#### Bid #BLD2128060B1 - Janitorial Paper and Soap Products

Creation Date Feb 9, 2024

**End Date** 

Mar 21, 2024 2:00:00 PM EDT

Start Date

Mar 5, 2024 4:39:20 PM EST

Awarded Date Not Yet Awarded

Supplier		Unit Price	e Qty/Unit	Total Price	Attch.	Doc
Williams Professional Water Restoration Service LLC		First Offer - \$29.50	IN CALCULATION AND ADDRESS OF THE PARTY.	\$29,500.00	Y	Y
Product Code:64075 Agency Notes:			Supplier Product Supplier Notes: E Product Number Sheets per roll 8 Rolls per case 36 Delivery (should hours	t Code: Brand: Medline r. NON28830	endar da	
NOW Interactives, LLC	H	First Offer - \$33.93	3 1000 / case	\$33,930.00	200100000000000000000000000000000000000	Υ
Product Code:64075 Agency Notes:			Supplier Notes: E Product Number Sheets per roll 1 Rolls per case 12 Delivery (should days	r. BATH T2385-SC-V 150	endar da	<b>ys)</b> 14
All Florida Paper, LLC		First Offer - \$42.60	1000 / case	\$42,600.00		Y
Agency Notes:			Product Number Sheets per roll 1 Rolls per case 18 Delivery (should	500	endar da	<b>ys)</b> 14
Snapper Enterprise		First Offer - \$49.92	2 1000 / case	\$49,920.00		Y
Product Code:64075 Agency Notes:			Product Number Sheets per roll 1 Rolls per case 18 Delivery (should days	<b>Brand</b> : Georgia Paci r. GPT19378 500	endar da	<b>ys)</b> 5-10
Trusted & Dependable Solutions LLC		First Offer - \$70.96	5 1000 / case	\$70,960.00		Υ
Product Code:64075 Agency Notes:			Supplier Product Supplier Notes: E Product Numbe Sheets per roll 1 Rolls per case 18 Delivery (should	t Code: Brand: Georgia Paci r. GPC19378 500	endar da	
500 (100 100 100 100 100 100 100 100 100						
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	П	First Offer - \$83.4		\$83,480.00		Y

Agency Notes:		Supplier Notes:Brand: Georgia Pacific Product Number: GPC19378 Sheets per roll 1500 Rolls per case 18 Delivery (should not exceed 14 calendar days)7 business days Recycled Content Product (Yes or No)Yes				
The Tools Man, Inc.	First Offer - \$95.51	ffer - \$95.51 1000 / case \$95,510.00		Y		
Product Code: 64075 Agency Notes:		Supplier Notes:Br Product Number. Sheets per roll 15 Rolls per case 18 Delivery (should r Recycled Content	not exceed 14 calendar Product (Yes or Νο)ye h Capacity 2-Ply Toilet P	<b>r days)</b> 14 s		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
NOW Interactives, LLC	First Offer - \$43.06	600 / case	\$25,836.00		Y
Product Code:64075 Agency Notes:			Brand: Eden Soft r. TT-8400-3		i <b>ys)</b> 14
Williams Professional Water Restoration Service LLC	First Offer - \$49.50	600 / case	\$29,700.00		Υ
Product Code:64075 Agency Notes:		hours	Brand: Medline r. NON27800 00		ı <b>ys)</b> 48
All Florida Paper, LLC	First Offer - \$55.58	600 / case	\$33,348.00		Υ
Product Code:64075 Agency Notes:		Product Number Sheets per roll 5 Rolls per case 80 Delivery (should	Brand: GEORGIA PA r. 19880 50	endar da	ıys)14
Snapper Enterprise	First Offer - \$59.97	600 / case	\$35,982.00		Υ
Product Code:64075 Agency Notes:		Supplier Notes:E Product Number Sheets per roll 5 Rolls per case 80 Delivery (should days	00	ific l <b>endar d</b> a	<b>ays)</b> 5-10

Trusted & Dependable Solutions LLC	First Offer - \$76.37	600 / case	\$45,822.00	Y	
Product Code:64075 Agency Notes:		Product Number Sheets per roll 5 Rolls per case 80 Delivery (should	Brand: Georgia Pacific r. GPC1988001 50	<b>在1888年的现在分词对由2008年的</b>	
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$103.5	600 / case	\$62,106.00	Y	
Product Code:64075 Agency Notes:		Supplier Product Code: Supplier Notes:Brand: Georgia Pacific Product Number: GPC1988001 Sheets per roll: 550 Rolls per case: 80 Delivery (should not exceed 14 calendar days)7 - business days Recycled Content Product (Yes or No)Yes			
The Tools Man, Inc.	First Offer - \$108.26	600 / case	\$64,956.00	Y	
Product Code:64075 Agency Notes:		Product Number Sheets per roll 5 Rolls per case 80 Delivery (should Recycled Conten	trand: Georgia Pacific c GPC19880 50 not exceed 14 calend t Product (Yes or No) per, 2 Ply, 550 Sheets/R		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
NOW Interactives, LLC	First Offer - \$25.68	4000 / case	\$102,720.00		Y
Product Code:64075 Agency Notes:		Supplier Product Code:MULTI-FOLD-WHITE Supplier Notes:Brand: Eden Soft Product Number. MULTI-FOLD-WHITE Sheets per pack 250 Packs per case 16 Delivery (should not exceed 14 calendar d Recycled Content Product (Yes or No)		TE <b>endar da</b>	<b>ys)</b> 7
All Florida Paper, LLC	First Offer - \$27.28	4000 / case	\$109,120.00		Y
Product Code:64075 Agency Notes:		Supplier Product Supplier Notes:B Product Number Sheets per pack 2 Packs per case 16 Delivery (should Recycled Content	rand: GEORGIA PA 24590 250 5 not exceed 14 cal	endar da	<b>ys)</b> 14
Snapper Enterprise	First Offer - \$35.59	4000 / case	\$142,360.00		Υ
Product Code:64075 Agency Notes:		Supplier Product Supplier Notes:B Product Number Sheets per pack 2 Packs per case 16 Delivery (should	<b>rand</b> : Georgia Paci : GPT24590 250 6		<b>ys)</b> 5-10

	unity Commissioners	Perucled Content	t Product (Yes or Nα)ye	
MACHINE HER MARKET BY THE		Recycled Content	rroduct (res or No.)ye	3
Williams Professional Water Restoration Service LLC	First Offer - \$39.50	4000 / case	\$158,000.00	Y
Product Code:64075 Agency Notes:		hours	r <b>and</b> : Medline NON26810 250	
Trusted & Dependable Solutions LLC	First Offer - \$49.84	4000 / case	\$199,360.00	Y
Product Code:64075 Agency Notes:		Product Number Sheets per pack 2 Packs per case 16 Delivery (should i	rand: Georgia Pacific GPC24590 250	MARKET THE STATE OF S
The Tools Man, Inc.	First Offer - \$64.87	4000 / case	\$259,480.00	Y
Product Code:64075 Agency Notes:		Supplier Product Code:GPC24590 Supplier Notes:Brand: Georgia Pacific Product Number: GPC24590 Sheets per pack 250 Packs per case 16 Delivery (should not exceed 14 calendar day Recycled Content Product (Yes or No)y		
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$65.84	4 4000 / case	\$263,360.00	Y
Product Code:64075 Agency Notes:		Product Number Sheets per pack 2 Packs per case 16 Delivery (should obusiness days	rand: Georgia Pacific GPC24590 250	

BLD2128060B1-01-04 Baywest REN06001-	WB Paper Towel, Roll				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
All Florida Paper, LLC	First Offer - \$16.65	250 / case	\$4,162.50		Y
Product Code:64075 Agency Notes:		Supplier Product Code:KT16 Supplier Notes:Brand: SOUT Product Number: 33112 Sheets per roll 60 Rolls per case 30 Delivery (should not exceed Recycled Content Product (		lendar da	
Snapper Enterprise	First Offer - \$39.51	250 / case	\$9,877.50		Y
Product Code:64075 Agency Notes:		Supplier Notes: I Product Numbe Sheets per roll 8 Rolls per case 30	r. REN06001-WB 34		<b>ays)</b> 5-10

	inty Commissioners	Recycled Conte	nt Product (Yes or No.)y	es
NOW Interactives, LLC	First Offer - \$40.47	250 / case	\$10,117.50	ΙY
Product Code:64075 Agency Notes:		Product Number Sheets per roll & Rolls per case 3 Delivery (should	<b>Brand</b> : Tough Guy er 22UY43 35	PER
Williams Professional Water Restoration Service LLC	First Offer - \$45.00	250 / case	\$11,250.00	Y
Product Code:64075 Agency Notes:		hours	Brand: Medline er: NONPBM800B 3 x800	
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$420.3	250 / case	\$105,092.50	Y
Product Code:64075 Agency Notes:		business days Recycled Conte	Brand: RENOWN er. REN06001-WB 34	es
The Tools Man, Inc.	First Offer - \$561.86	250 / case	\$140,465.00	Y
Product Code:64075 Agency Notes:		Supplier Notes: Product Numbe Sheets per roll & Rolls per case 3( Delivery (should Recycled Conter	er. REN06001-WB 34	-

BLD2128060B1-01-05 Kimberley Clark KCC41055 Wypa	ll X-80 Wipers, Wipe Rolls				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
NOW Interactives, LLC	First Offer - \$45.925	250 / case	\$11,481.25		Y
Product Code:64075 Agency Notes:		Supplier Product Code:MW Supplier Notes:Brand: Cher Product Number. MW-80R-0 Sheets per roll 475 Rolls per case 6 Delivery (should not excee Recycled Content Product		lendar da	ays)14
Williams Professional Water Restoration Service LLC	First Offer - \$49.50	250 / case	\$12,375.00		Υ
Product Code:64075 Agency Notes:		Supplier Produc Supplier Notes:I Product Numbe	Brand: Medline		

	County Commissioners	hours		l <b>ays)</b> 48		
Snapper Enterprise	First Offer - \$60.98	A RESIDENCE SHEET SHEET SHEET SHEET		l y		
Product Code:64075 Agency Notes:	ode:64075 ptes:		First Offer - \$60.98   250 / case   \$15,245.00    Supplier Product Code:KCC41055 Supplier Notes:Brand: Kimberly Clark Product Number. KCC41055 Sheets per roll 475 Rolls per case 1 Delivery (should not exceed 14 calendar days Recycled Content Product (Yes or No)yes			
Trusted & Dependable Solutions LLC	First Offer - \$71.28	250 / case	\$17,820.00	Y		
Product Code:64075 Agency Notes:		Product Number Sheets per roll 2 Rolls per case 1 Delivery (should	<b>Brand</b> : Kimberly Clark e <b>r</b> . KCC41055 250	a <b>ys)</b> 14		
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$78.9	4 250 / case	\$19,735.00	Y		
Product Code: 64075 Agency Notes:		business days	Brand: WypAll er. KCC41055	<b>ays</b> )7 - 14		
PYRAMID SCHOOL PRODUCTS	First Offer - \$79.98	250 / case	\$19,995.00	Y		
Product Code:64075 Agency Notes:		Supplier Produc Supplier Notes: Product Numbe Sheets per roll 4 Rolls per case 1 Delivery (should	et Code: Brand: KIMBERLY CLARK er: KCC41055	<b>ays)</b> 14		
The Tools Man, Inc.	First Offer - \$101.51	250 / case	\$25,377.50	Y		
Product Code:64075			ct Code:KCC41055 Brand: Kimberley Clark KCC			

BLD2128060B1–01-06 Kimberley Clark KCC41048 Wypall X-80 Wipers, Pop-up Box						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
NOW Interactives, LLC	First Offer - \$54.99	200 / case	\$10,998.00		Y	

#### Broward County Board of County Commissioners

Product Code:64075 Supplier Product Code:MW-80-P Supplier Notes:Brand: ChemWipe **Agency Notes:** Product Number MW-80-P Sheets per pop-up box 400 Boxes per case 8 Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or No)No First Offer - \$60.25 Υ Snapper Enterprise 200 / case \$12,050.00 Supplier Product Code:KCC41048 Product Code:64075 Agency Notes: Supplier Notes:Brand: Kimberly Clark Product Number KCC41048 Sheets per pop-up box 80 Boxes per case 5 Delivery (should not exceed 14 calendar days)5-10 days Recycled Content Product (Yes or No:)yes Trusted & Dependable Solutions LLC First Offer - \$74.12 200 / case \$14,824.00 Y Supplier Product Code: Product Code:64075 Supplier Notes: Brand: Kimberly Clark **Agency Notes:** Product Number KCC41048 Sheets per pop-up box 80 Boxes per case 5 Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or No)No PYRAMID SCHOOL PRODUCTS First Offer - \$80.99 200 / case \$16,198.00 Υ Product Code:64075 Supplier Product Code: Agency Notes: Supplier Notes:Brand: KIMBERLY CLARK Product Number KCC41048 Sheets per pop-up box 80 Boxes per case 5 Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or No:)NO The Tools Man, Inc. First Offer - \$107.17 Υ 200 / case \$21,434.00 Product Code:64075 Supplier Product Code:41048 **Agency Notes:** Supplier Notes:Brand: Kimberly Clark Product Number 41048 Sheets per pop-up box 80 Boxes per case 5 Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or No.)n Dry Wipe, X80, Pop Up Box, Hydroknit, 8 1/4 in x 16 3/4 in, 80 Sheets, White, 5 Pack Agni Enterprises, LLC (dba) Head to Heels Safety Supplies First Offer - \$110.51 200 / case \$22,102.00 Υ Supplier Product Code: Product Code:64075 Supplier Notes: Brand: KIMBERLY-CLARK Agency Notes: PROFESSIONAL Product Number 41048 Sheets per pop-up box 80 Boxes per case 5 Delivery (should not exceed 14 calendar days)7 - 14 business days Recycled Content Product (Yes or No.)No

BLD2128060B1–01-07 Hospeco REN03800 Toilet Seat Covers		
Supplier	Unit Price Qty/Unit	Total Price Attch. Docs

	unty Commissioner	150 (B)		e Carre		ALCOHOL:	
NOW Interactives, LLC	First Offer - \$30.		150 / case		\$4,504.50		Υ
Product Code:64075 Agency Notes:			Supplier Notes:B Product Number Sheets per pack Packs per case 20 Delivery (should	TSC 250 0 not		lays)7	
Snapper Enterprise	First Offer - \$37.	75	150 / case		\$5,662.50		Υ
Product Code:64075 Agency Notes:			days	rand REN 250 O not	: Renown	lays)5	-10
PYRAMID SCHOOL PRODUCTS	First Offer - \$37.9	98	150 / case		\$5,697.00		Υ
Product Code:64075 Agency Notes:			CONTRACTOR STATE OF THE PROPERTY OF THE PROPER	ranc : DS5 250 0 not (	: HOSPECO	lays)1	4
Williams Professional Water Restoration Service LLC	First Offer - \$51	.73	150 / case		\$7,759.50		Υ
Product Code:64075 Agency Notes:				ranc : NOI :5000 : D not e	ł: Medline N26899	lays)4	8 hour
All Florida Paper, LLC	First Offer - \$60.0	00	150 / case		\$9,000.00		Υ
Product Code:64075 Agency Notes:				ranc : DS-5 250 ) not (	I: HOSPECO	lays)1	4
The Tools Man, Inc.	First Offer - \$75.0	04	150 / case		\$11,256.00		Υ
Product Code:64075 Agency Notes:		1	Recycled Conten	rand DS-5 250 O not o t Pro	d: HOPESCO 5000 exceed 14 calendar coduct (Yes or No)n/a creet Seat, 1/2 Fold, 16		

BLD2128060B1-01-08 Georgia Pacific GPT894	60 Enmotion 10-inch x 800 feet Pape	r Towel Roll, Whi	te		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			Section of the sectio	Material Property	STATE OF THE PARTY

D2'		

NOW Interactives, LLC	First Offer - \$57.27	150 / case	\$8,590.50	Y
Product Code:64075 Agency Notes:		Supplier Notes: Product Numbe Sheets per roll & Rolls per case 6 Delivery (should	er CUTNDRY 10" 300	ndar days)14
All Florida Paper, LLC	First Offer - \$61.12	150 / case	\$9,168.00	Y
Product Code:64075 Agency Notes:		Product Numbe Sheets per roll 8 Rolls per case 6 Delivery (should	<b>Brand</b> : GEORGIA PACI er. 89460	ndar days)14
Snapper Enterprise	First Offer - \$74.89	150 / case	\$11,233.50	Y
Product Code:64075 Agency Notes:		Supplier Notes: Product Numbe Sheets per roll 8 Rolls per case 6 Delivery (should 10days		ndar days)5-
The Tools Man, Inc.	First Offer - \$126.48	150 / case	\$18,972.00	Y
Product Code:64075 Agency Notes:		Product Numbe Sheets per roll 8 Rolls per case 6 Delivery (should Recycled Conter	Brand: Georgia Pacific er. 89460 300 ft I not exceed 14 caler nt Product (Yes or No yound Paper Towels, 1	ndar days)14 ɒ)n/a
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$133.1	3 150 / case	\$19,969.50	Y
Product Code:64075 Agency Notes:		business days	Brand: GP Pro er. 89460	

Supplier	Unit Price	Qty/Unit	Total Price Attch.	Docs
NOW Interactives, LLC	First Offer - \$31.20	40 / case	\$1,248.00	Y
Product Code:64075 Agency Notes:	arysemi Dellyman	Supplier Product Cod Supplier Notes:Brand Product Number GP Delivery (should not Recycled Content Pro	d: Georgia Pacific Г4962A <b>exceed 14 calendar days)</b> 7	
All Florida Paper, LLC	First Offer - \$42.55	40 / case	\$1,702.00	Гу

Product Code:64075 Agency Notes:		Supplier Product Code:59462A Supplier Notes:Brand: GEORGIA PACIFIC Product Number: 59462A Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or Na)NO				
Snapper Enterprise	First Offer - \$54.86	40 / case	\$2,194.40	Υ		
Product Code: 64075 Agency Notes:			nd: Georgia Pacific	)5-10 days		
The Tools Man, Inc.	First Offer - \$82.47	40 / case	\$3,298.80	Y		
Product Code:64075 Agency Notes:		735 80,700	nd: Georgia Pacific	)14		

BLD2128060B1-01-10 Georgia Pacific GP42714 EnMotio	on Gen2 Moisturising Foan	n Soap, Fragrance	Free		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Williams Professional Water Restoration Service LLC	First Offer - \$28.94	40 / case	\$1,157.60		Y
Product Code: 48686 Agency Notes:		hours	Brand: Medline r. HHABSP1200F		<b>ys)</b> 48
Snapper Enterprise	First Offer - \$29.85	40 / case	\$1,194.00	A THE PERSON OF	Y
Product Code:48686 Agency Notes:		Supplier Notes:E Product Numbe Packs per case 2 Delivery (should days		endar da	y <b>s)</b> 5-10
All Florida Paper, LLC	First Offer - \$37.17	40 / case	\$1,486.80		Υ
Product Code:48686 Agency Notes:		Product Numbe Packs per case 2 Delivery (should	Brand: GEORGIA PA r. 42714	endar da	ys)14
NOW Interactives, LLC	First Offer - \$42.44	40 / case	\$1,697.60		Y
Product Code:48686 Agency Notes:		Supplier Product Supplier Notes: Product Numbe	<b>Brand</b> : SC Johnson		
		Packs per case 6 Delivery (should Recycled Conter		<b>No:)</b> No	
The Tools Man, Inc.	First Offer - \$74.86	Packs per case 6 Delivery (should Recycled Conter Kindest Kare Pure	not exceed 14 cal at Product (Yes or	<b>No:)</b> No	

BL	D2'	128	060	)B1

Agency Notes:		Product Number Packs per case 2 Delivery (should Recycled Conten	not exceed 14 calenda it Product (Yes or No)n land Soap Cartridge, 1,20	'a
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$84.55	40 / case	\$3,382.00	Y
Product Code:48686 Agency Notes:		business days	<b>Brand</b> : GP Pro r. 42714	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
NOW Interactives, LLC	First Offer - \$1.00	200 / case	\$200.00		Υ
Product Code: 48686 Agency Notes:		Recycled Conten	Brand: SC Johnson r. 1022312	<b>να)</b> Νο	
All Florida Paper, LLC	First Offer - \$5.31	200 / case	\$1,062.00		Υ
Product Code:48686 Agency Notes:		Product Number Boxes per case 1 Delivery (should	Brand: GEORGIA PA r. 52057	endar day	<b>/s)</b> 14
Snapper Enterprise	First Offer - \$22.25	200 / case	\$4,450.00		Υ
Product Code:48686 Agency Notes:		Product Number Boxes per case 1	Brand: Georgia Pacif r. GPT52057		<b>/s)</b> 5-10
		Recycled Conten	t Product (Yes or I	N <b>α)</b> yes	
The Tools Man, Inc.	First Offer - \$55.15		\$11,030.00	<b>Nα)</b> yes	Y
The Tools Man, Inc.  Product Code: 48686  Agency Notes:	First Offer - \$55.15	200 / case Supplier Product Supplier Notes:E Product Number Boxes per case 1 Delivery (should Recycled Content GEORGIA-PACIFIC	\$11,030.00 t Code:52057 Brand: Georgia Pacit r. 52057 not exceed 14 calc tt Product (Yes or N	fic endar day No)n/a	

#### Broward County Board of County Commissioners

**Agency Notes:** 

Supplier Notes:Brand: GEORGIA-PACIFIC
Product Number. 52057
Boxes per case Each
Delivery (should not exceed 14 calendar days)7 - 14
business days
Recycled Content Product (Yes or No)No

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
NOW Interactives, LLC	First Offer - \$1.00	A REST OF THE REST OF THE PARTY	\$250.00		Y
Product Code:48686 Agency Notes:		Supplier Product Supplier Notes:B Product Number. Boxes per case 3 Delivery (should recycled Content All Dispensers are for SC Johnson Product	rand: SC Johnson 102261-D not exceed 14 cale t Product (Yes or N provided at no cos	<b>να)</b> No	
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$13.7	4 250 / case	\$3,435.00		Υ
Product Code:48686 Agency Notes:		Supplier Product Supplier Notes:Bi Product Number: Boxes per case Ea Delivery (should in business days Recycled Content	rand: Kutol 9942BLK ach not exceed 14 cale		<b>ys)</b> 7 - 1
The Tools Man, Inc.	First Offer - \$14.63	250 / case	\$3,657.50		Υ
Product Code:48686		Supplier Product Supplier Notes:Bi Product Number Boxes per case 1 Delivery (should in Recycled Content	Code:9942BLK rand: EZ Hand 9942BLK not exceed 14 cale t Product (Yes or N	No:)n/a	<b>ys)</b> 14
The Tools Man, Inc.  Product Code: 48686 Agency Notes:  Snapper Enterprise		Supplier Product Supplier Notes:Bi Product Number: Boxes per case 1 Delivery (should in Recycled Content EZFoam Dispenser Manual Hand Soap	Code:9942BLK rand: EZ Hand 9942BLK not exceed 14 cale t Product (Yes or N	No:)n/a	<b>ys)</b> 14

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Snapper Enterprise	First Offer - \$61.95	500 / case	\$30,975.00		Υ	
Product Code:48686 Agency Notes:		Supplier Product Supplier Notes:E Product Numbe	Brand: Kutol			
		Boxes per case 6 /1000ml				
		Delivery (should not exceed 14 calendar days)7-14				
		Business Days				

Cou	inty Commissioners				
		Recycled Conten	t Product (Yes or N	lα)yes	
NOW Interactives, LLC	First Offer - \$68.26	500 / case	\$34,130.00		Υ
Product Code:48686 Agency Notes:	Supplier Product Code:626461 Supplier Notes:Brand: SC Johnson Product Number: 626461 Boxes per case 6 Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or No)No Kindest Kare Anti-Bac Foam 6 x 1 L Hypo-Allergenic				
The Tools Man, Inc.	First Offer - \$72.32	500 / case	\$36,160.00		Y
Product Code: 48686 Agency Notes:		Recycled Conten	rand: EZFoam : 21341	l <b>o:)</b> n/a	
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$93.92	500 / case	\$46,960.00		Υ
Product Code:48686 Agency Notes:		business days	rand: Kutol : 21341		<b>ys)</b> 7 - 14

BLD2128060B1–01-14 Soft & Silky 9951ZPL (Black) 800ml	Hand Soap Dispenser					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
NOW Interactives, LLC	First Offer - \$1.00	150 / case	\$150.00		Υ	
Product Code: 48686 Agency Notes:		Supplier Product Code:102261-D Supplier Notes:Brand: SC Johnson Product Number: 102261-D Boxes per case 3 Delivery (should not exceed 14 calendar days)14 Recycled Content Product (Yes or No)No  All Dispensers are provided at no cost with installation for SC Johnson Products				
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	First Offer - \$17.1	Colors and these Property is the Color of the Colors	\$2,572.50		Υ	
Product Code:48686 Agency Notes:		business days	rand: Kutol : 9951ZPL		<b>ys)</b> 7 - 1	
The Tools Man, Inc.	First Offer - \$19.43	150 / case	\$2,914.50		Υ	
Product Code:48686 Agency Notes:		Product Number Boxes per case 1 Delivery (should	rand: Health Guar	endar da	<b>ys)</b> 14	

BLD2128060B1

			Health Guard 9951ZPL Soft & Silky Bag-In-Box Dispenser, Plastic, 800 mL, Black			
Snapper Enterprise		First Offer - \$20.15	150 / case	\$3,022.50	Y	
Product Code:48686 Agency Notes:			Supplier Product Code:KU9951ZPL Supplier Notes:Brand: Kutol Product Number. KU9951ZPL Boxes per case 1 Delivery (should not exceed 14 cale Business Days Recycled Content Product (Yes or N		• •	

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Snapper Enterprise		First Offer - \$59.56	600 / case	\$35,736.00		Y
Product Code: 48686 Agency Notes:			Supplier Product Code:KU5012 Supplier Notes:Brand: Kutol Packs per case 8/1200ML Delivery (should not exceed 14 calendar days)7-14 Business Days Recycled Content Product (Yes or No)yes			
NOW Interactives, LLC	IDECTED A	First Offer - \$68.26	600 / case	\$40,956.00		Υ
Product Code: 48686 Agency Notes:			Recycled Conten	Brand: SC Johnson	<b>Vo:)</b> No	
The Tools Man, Inc.		First Offer - \$88.43	600 / case	\$53,058.00		Y
Product Code: 48686 Agency Notes:				Brand: Kutol		<b>ys)</b> 14
Agni Enterprises, LLC (dba) Head to Heels Safety Supplies	T	First Offer - \$98.40	600 / case	\$59,040.00		Υ
Product Code:48686 Agency Notes:			Packs per case 8 Delivery (should business days	<b>Brand</b> : Kutol - KUT5	endar da	<b>ys)</b> 7 - 1

#### **Supplier Totals**

f NOW Interactives, LLC	\$286,809.35 (15/	15 items)			
Bid Contact Nick Williams	Address 3635 NE 1st Av	e			
vendor@nowinteractives.com	Suite 1409				
Ph 954-288-0550	Miami, FL 3313	7			
Agency Notes:	Supplier Notes:	Head Attch:			
f Snapper Enterprise	\$363,689.90 (15/15 items)				
Bid Contact Sandra Campbell	Address 1700 SE 15th ST				

#### Broward County Board of County Commissioners

Snappersandie@aol.com Suite 208 Ph 954-675-0273 Fort Lauderdale, FL 33316 Supplier Code VC0000007443 Qualifications CBE SBE **Agency Notes: Supplier Notes: Head Attch:** f The Tools Man. Inc. \$750,563.70 (15/15 items) Bid Contact Trina Gonzalez Address 5500 SW 48th ST customercare@thetoolsman.com Suite B Ph 954-581-2546 Davie, FL 33314 Fax 954-495-9376 Supplier Code VC0000110443 Qualifications CBE DBE MBE SB SBE SBE/CBE APPLICATION **Head Attch: Agency Notes: Supplier Notes:** Williams Professional Water Restoration Service LLC \$249,742.10 (7/15 items) Bid Contact **Cortena Williams** Address 1855 SW 4th Avenue wpwrs1965@gmail.com Ste. B 22 Ph 561-213-1433 Delray Beach, FL 33444 Fax 219-232-2633 Qualifications CBE MBE SB SBE WBE Agency Notes: **Supplier Notes: PYRAMID SCHOOL PRODUCTS** \$41,890.00 (3/15 items) Bid Contact **LARRY MILLER** Address 6510 N 54TH ST biddept@pyramidsp.com TAMPA, FL 33610-1908 Ph 800-792-2644 Supplier Code VC0000A20724 Qualifications SB **Agency Notes: Supplier Notes: Trusted & Dependable Solutions LLC** \$348,786.00 (5/15 items) Bid Contact **Darrell Fullington** Address 783 hawthorn terrace darrell@t-dsolutions.com Weston, FL 33327 Ph 954-559-5625 Qualifications DBE MBE SB **Supplier Notes:** Agency Notes: Agni Enterprises, LLC (dba) Head to Heels Safety Supplies \$702,606.50 (13/15 items) Bid Contact Subbarayan R Pochi Address 7950 NW 155th Street, Suite 103 cservice@headtoheels.net Miami Lakes, FL 33016 Ph 305-712-6653 Fax 888-592-3667 Qualifications DBE MBE SB **Agency Notes: Supplier Notes:** All Florida Paper, LLC \$211,649.30 (9/15 items) Address 9150 NW 105th Way **Bid Contact** Mario Vale mvale@allfloridapaper.com Medley, FL 33178 Ph 305-755-4820 Qualifications MBE SB WBE Agency Notes: **Supplier Notes:** 

# Exhibit 1 Page 16 of 16 BLD2128060B1

Broward County Board of County Commissioners

\*\*